	[image: image1.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper – 2010

Class – X

Subject -Mathematics
Q1)
On dividing x3- 3x2 + x +2 by a polynomial g(x) the quotient and the reminder is 


x-2 and -2x+4. Find g(x).   (3)

 Q2) 
Find all the zeroes of 2x4 – 3x3 – 3x2 +6x -2 if you know that of zeroes are√2, - √2.  (3)                                                                                                                                                          

Q3)
Meena went to bank and withdraw Rs 2000. She asked the cashier to give her Rs 50 and 

100 notes only. Meena got 25 notes in all Find how many notes of  50 and 100 she get.3                                                                                                                                                                                     

Q4)   Find the value of  a and b if the pair of  line have infinite no of solution .

2x +3y =7     ; (a - b)x + (a +b) y =3a + b -2                  (3)                                                                                                                                         
Q5)  
Solve the following:

a)    5     +   1      = 2 ;    6    -   3     = 1    b)     1         -      1    = 11  


(6)

x-1          y-2             x-1    y-2                  x+4              x-7      30                                                                                                                                   

Q6)     A rectangular park is designed so that breadth is 3m less than the length. Its area is to be 4 

sq m more than the area of the park that already has been made in the shape of the isosceles (4 triangle with the base as the breadth of the rectangular park and of altitude 12m. find L and B.                                                                                                                                                                                             

[image: image1.png]Q7)
A train travel 360 Kms  at a uniform speed if the speed had been 5 km/hr more it would have taken 1 hr less for  the same journey. Find the usual speed. 

(4)

                                                                                  

Q8)  200 logs of wood  stacked in the following manner 20 log in the bottom row , 19 in the next row, and 18 …respectively. In how many rows are the 200 logs placed. And how many logs

 in the top row?
(4)


 






(30)
Q9) 
Given an=28 , S =144 and there are total 9 terms in A.P . find a3
. (3)

Q10)
Find  the sum of first 7 terms of A.P in which d=7 and 22nd term is 149.
   
(3)
Q11)
A manufacturer of T.V set produced 600 set in the 3rd year and 700 set in the 7th year . Assuming that the  production  increases uniformly by a fixed number every year. Find the 

1) Production in the 2nd year   2) total production in the 10 years.                                    (4)                                                                                                                

Q12) 
If  21st term of an A. p is 420. Then find the sum of  first 41 terms. 
 (3)
Q13) 
Prove the following Identrities

(1) (sin Ө +cosecӨ)2  + (cosӨ + secӨ)2  = 7 + tan2Ө + cot2Ө       

(5)

(2) 2sec2 Ө – sec4 Ө – 2cosec2 Ө + cosec4 Ө = cot4 Ө  - tan4 Ө                                                      

Q14)
 If tan Ө + sin Ө = m and tan Ө - sin Ө = n, show that m2 –n2 =4√mn       (4)                                                                                                                                                            

Q15)
 A straight highway leads to the foot of a tower. A man standing at the top of  the tower 

observe that a car at an angle of depression of 30’, which is approaching  the foot of the

 tower  with a uniform speed. Six second later the angle of depression  of the car is found 

to be 60’ . find the time taken by the car to reach the foot of the tower.          (4)                                                                                      

Q16)
Two poles of equal height are standing opposite to each other on the  either side of the road


Which is 80m wide. From a point between them on the road the angle of elevation of the


Top of the poles are 30 and  60’ respectively. Find the height of the poles and distances of 


The points from the pole.          (4)             
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